
1 0+000,00 0,000
6,00 przekrój B

2 0+006,00 0,440
44,00 0,440 19,36

3 0+050,00 0,440
12,00 0,440 5,28

4 0+062,00 0,440
22,00 przekrój B

5 0+084,00 0,250
13,44 0,250 3,36

6 0+097,44 0,250
2,56 0,260 0,67

7 0+100,00 0,270
9,02 0,265 2,39

8 0+109,02 0,260
40,98 0,260 10,65

9 0+150,00 0,260
50,00 0,245 12,25

10 0+200,00 0,230
50,00 0,325 16,25

11 0+250,00 0,420
50,00 0,320 16,00

12 0+300,00 0,220
26,75 0,255 6,82

13 0+326,75 0,290
23,25 0,255 5,93

14 0+350,00 0,220
19,58 0,255 4,99

15 0+369,58 0,290
6,58 0,320 2,11

16 0+376,16 0,350
21,32 0,400 8,53

17 0+397,48 0,450
18,32 0,450 8,24

18 0+415,80 0,450
6,01 przekrój B

19 0+421,81 0,000
421,81 122,83

122,83 X 2,5 = 307,08

133,7448 kg/m2

118 m2 15,78

230 m2 30,76

ogółem: 353,62

zjazd publiczny km 
0+240 str P

skrzyżowanie km 0+405 
str P,L

Objetość [ m3 ]
Średn. pow. 

przekr.
[ m2 ]

Powierzchnia
[ m2 ]

TABELA ILOŚCI WYRÓWNANIA Z BA

Lp Lokalizacja
Odległość

[ m ]


